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(6x+ 6)(2x¢° —x+ 6) — (4x + 3)(x + 1) 6x + (6 + 5x)(5x — 3)(5x — 1)
(5% — 6+ 4)(6x— 1) =2 x 3x + 1 (2x* — 5x+5)(2x— 6) — 6 x 3x+ 5
(Bx+ 5)( = 3x+ 6)+ (6x — 4)(x — 3) (4x + 2)(x — 6)(3x + 6)
(2x + 5)(6x + 3)(5x — 5) (4 — 2x+ 5)dx+ 1) — 1 x 3x— 1
6x + (5 — 5x)(4x + 2)(2x + 3) (6x> + 3x+ 6)(x— 5)+ 5 x 5x+ 6
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(6x+ 6)(2X% —x+ 6)— (4x + 3)(x + 1)
1223 + 252 + 23x + 33

(5x> — 6x+4)(6x— 1) —2 x 3x+ 1
30x° — 41x% + 24x — 3

(3x+ 5)(x% = 3x+ 6) + (6x — 4)(x— 3)
33+ 22 — 19x + 42

(2x + 5)(6x + 3)(5x — 5)
60x° + 120x” — 105x — 75

6x + (5 — 5x)(4x + 2)(2x + 3)
—40x° — 40x%° + 56x + 30

A5

6x + (6+ 5x)(5x— 3)(5x— 1)
125x° + 50x° — 99x + 18

(22 = 5x+5)(2x— 6) — 6 x 3x+ 5
43 — 22x% + 22x — 25

(4x + 2)(x — 6)(3x + 6)
12x° — 42x% — 168x— 72

(4> — 2x+5)(4x+ 1)— 1 x 3x— 1
16x° — 4x* + 15x + 4

(6x% + 3x+6)(x— 5)+ 5% 5x+ 6
6x° — 27 + 16x — 24
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